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Eg. Listall "graphs on 4 vertices:

aa --8 a b
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A graph of ordern is a pair G:(V,E) when V is a setofa vertices and E is a

subset of pairs Sr, w3 where vew, v,w- . E.g. the graph with vertices 1,2,3,4

and edges 51,33,92.33 can be illustrated (the two graphso
are isomorphic
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Of these four graphs, which one is not isomorphic to the others?

Graphs (a), (b) are isomorphic. Graph (c) is not isomorphic to(a) or (b) because graph (a)
has diameter 2:any two vertices are atdistance atmost2 apart. However, graph (it has

diameter3.

Anansymmetryas of a graph is an isomorphism from the graph toitself.

aisomos
from graphical tographical isthemapwithtabbotorone

vertex 1iu(a)


